
SAP ABAP table VIAJRECINDX_TAB {Adjustment Record INDX: Non-Key Fields}

VIAJRECINDX_TAB

INDEXSERIES [CHAR (5)]

INDEXBASEYEAR [NUMC (4)]

RB_INDEXSERIES [CHAR (5)]

RB_INDEXBASEYEAR [NUMC (4)]

T094A

MANDT [CLNT (3)]

WBIND [CHAR (5)]

 VIAJRECINDX_TAB-INDEXSERIES = T094A-WBIND 
0..N

1  VIAJRECINDX_TAB-RB_INDEXSERIES = T094A-WBIND 0..N

1

T094B

MANDT [CLNT (3)]

WBIND [CHAR (5)]

YBASISJ [NUMC (4)]

 VIAJRECINDX_TAB-INDEXBASEYEAR = T094B-YBASISJ 

0..N

1

 VIAJRECINDX_TAB-RB_INDEXBASEYEAR = T094B-YBASISJ 
0..N

1


